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13.2.1

17a ('~ mawp) 2 18b (Aypo K5 1733)

Note #1: in order to add a measure of my2y to 0127, o0 instituted a formal betrothal process, akin to Py, which must
precede any act of 0122, This process is known as 8» and creates an independent legal bond between the 03’ nimw and o,

Note #2: the notion of Ap’r means “binding” and implies that the 15291 creates a bond between 03> 1w and the pn2 (or only
the one p2’). The implications of np7’r obtain in 1177y, such that a Apipr may be considered related and her mother, sister etc.
may be 710K to the b,
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I ’® mwn: example of NP2 170 ROW PNR NWR — (2"NYVRR)
a. Brothers 1&2 coexist: sequence
i. Brother 1: marries wife #1 and brother #2 marries wife #2
1. Then: brother 1 dies
2. Then: brother 3 is born
ii. Option A: brother 2 performs p12» on wife 1
1. Then: brother 2 dies
2. Subsequently: wife #1 is released as 1%wa n>n RYY YNR NWR, wife #2 is released as NN
iii. Option B: brother #2 performs 1nxn (see note #1) on wife #1 and doesn’t consummate
1. Then: brother #2 dies
2. Subsequently: wife #1 must perform nx9n with brother #3 but may not perform oya»
iv. Note: wife #1 is called “nnwry” OR “nnv”
1. /nwxT first one to have “fallen”
2. /71 was married twice (to brother #1 and to brother #2)
II.  Source of limitation of M52 N*n YW PR NWR
a. VI: also teaches (from y1m) that they must be united in n%mi, excluding maternal brothers
b.  Alternate source: for paternal brothers —v. 2
i. question: why not infer from v. 3 — paternal OR maternal brothers are called oy
ii. answer: PAR ~=DMR
1. challenge: vv. 4-5 are seen as same (nX’1,n2W), why distinguish between pnr/7nR?
2. answer: if closer analogue available, we attach to it
iii. question: why not infer from v. 6 (expanding to other family members, e.g. nephew/uncle)?
iv. Answer: v. 2 is most reasonable, since nmR is Mamn
c.  Observation: v. 1 (y1v) and v. 2 (n'nR) are both necessary
i. Argument for 17 nR alone might have included e.g. 015 (also Mo — 0»7 would be sufficient)
ii. Arqument for o’nx: Y1’ might have required both paternal and maternal brotherhood, 5"np
III.  npor pr IR NPT W (see note #2)
a. 37 if a D NIMW dies, (even) the single 02’ may marry her mother
i. Implication: npt PR - even with only 1 brother, but only after death of na> namw
1. reasoning: only after death, in order not to annul Pna> nnxn
a. explanation: if he married the mother, the 02’ n1mw would then be un-n1’-able
b. 7w 27 if a ny NI dies, the D2’ may not marry her mother
i. implication: np1 v’ — even with multiple brothers, even after death of D1’ nImw
1. observation: even death doesn’t dissolve np’r (which needs an affirmative act to annul)
c.  support/challenge: »:7 — if his nn2> dies, he may marry her sister
i. possible implication: ...but not her mother (support for N> 27, challenge to 1)
ii. rejection: may also allow her mother; since the Xw» (“sister”) refers to a wife, where
only her sister becomes permitted after death, the X9’ also mentions a sister
d. challenge to 77177 “7. our MWn only requires N¥*YN in case of 1MKRN; w/o RN there should be no
D12, as P12 INVIPYA 7PN ROV PNR NWR NI
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e. defense: (n217) — even w/o nrn, there would be a need for nx'9n; stands contra w”a who maintain
that 1mxn is a full ap (and would obviate n¥’on as MY nNIx)
. challenge to 77777 /7. (aR) brothers #1&#2 coexist; brother #1 dies and then brother #3 is born,
brother #2 dies before performing Inrn, wife #1 is n1va but wife #2 is ma»-able
i. observation: if np» W, wife #2 should be 17109 as NP 12 2"NHYWRR NN
ii. defense: authored by n” who maintains njp’t
iii. challenge: n™ (anonymous author of R:1) considers nynx npot:
1. case: brothers #1/2 married to sisters #1/2; die and sisters fall to brothers #3/4
a. ruling: both brothers perform n¥%n, not o1a»
b. observation: if n"1 holds np’t PR, 127 should be allowed
c.  defense: n™ is concerned that after m1a» of 1, other brother may die,
releasing other sister as nwx mnr and we don’t want to annul Pn2> mxn
d. Observation: n" is concerned about Pn2’ N1¥N Y1071 even in case of Pav; 3"

isn’t concerned even in case of 'R (not encouraging jRn in case of sisters)

g.  ”aN's observation: about N’ 17's approach: it is sourced in YRnW’s ruling:
i. If. aman betrothes a woman and her sister falls to his brother, 2”21 rules that we tell the
potential husband to wait until his brother acts
1. implication: np>t1 v’ and the potential wife is PPt MNR
h.  7ar’: explicitly connected this ruling with YR1nv’s position that npr v
i. Ruling: if a D2’ MW dies, no DY is permitted to marry her mother)
ii. A7y :justification for both rulings of YRmw
1. If: we only had YR1nv’s statement about nnnw nna1’, we would think that there is
only np’t with one brother

2. And if: we only had 5®mnw’s ruling in favor of 27277, we would assume np’t only
while nna is alive
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